Multiplicar Tres Polinomios (C)

DO

Ot

Simplifique cada expresion.

(=3¢ — 69+ 2)(7g + 9)(—¢" + Tq)

- 8b(6b* + 4b° 4 7b*)(50* + 9b — 5)

3. (=17 — 2t* + 563) (=812 — 7t*)(—9t* — 5t)

Te(—4c” + 6¢* — 3¢%)(2¢2 — 5 — 2)

(=52° — 32%)(22° + 32* + 92)(— T2 + 62%)
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Multiplicar Tres Polinomios (C) Respuestas

(@

Simplifique cada expresion.

(=3¢ — 6¢ + 2)(7g + 9)(—¢" + Tq)

— 21¢° — 78¢* — 4434 — 298¢ + 126¢

8b(6b* + 4b® 4 7b*)(5b* + 9b — 5)
= 2400 + 592b° + 3280° + 344b* — 2800°

(—t> — 21 + 53) (=813 — 7t%) (=9t — 5t?)
= — 72t — 24710 4+ 1197 + 4455 + 175¢

Te(—4c” + 6¢* — 36%)(2¢2 — 5e — 2)

— —56¢% 4 224¢7 — 1968 + 21¢° + 426

- (=52® — 32%)(22° + 32* + 9z)(— T2 + 62%)

— 702" + 87210 + 2522 — 1352° — 16227
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